12x12 Pavilion

DESIGN REQUIREMENTS
1. Governing Code:
Including, not limited to: IBC 2015 (ASCE 7-10)
Risk Category: 1
. Live Load: 10 psf
4. Ground Snow Load: 30 psf with 2x6 Headers.
45 psf if upgraded to 2x8 Headers.
5. Wind Load:
Basic Wind Speed (V): 140 mph
Open Building, Unrestricted Flow

N

6. Uplift at each Column Base: 108 Ib.

AE_

o

End Elevation

Side Elevation

Detail E

4 YardCraft’

rediscover life outdoors
191 JALYN DRIVE NEW HOLLAND, PA 17557

PH: 1-866-210-9273

WWW.YARDCRAFT.COM

THIS DRAWING IS THE PROPERTY OF YARD CRAFT,
ANY REPRODUCTION , ALTERNATION, OR USE OF
THIS DRAWING, WITHOUT THE WRITTEN CONSENT
OF YARD CRAFT, IS PROHIBITED. DRAWINGS
SHALL NOT BE SCALED TO OBTAIN DIMENSIONS.
THE CONTRACTORS/DEALERS, AND BUILDERS
INVOLVED ON THIS PROJECT SHALL VERIFY ALL
DIMENSIONS AND CONDITIONS BEFORE
STARTING WORK. ANY DISCEPANCY SHALL BE
REPORTED IN WRITTING BEFORE STARTING WORK.

CONTRACTOR:

YardCraft

DRAWING TITLE:
Elevation Plans

PROJECT:

12x12 A-Frame Pavilion

COMMENTS:

REVISIONS: DATE: BY:

DRAWING NUMBER: g 550

DATE: 8/17/2018 PAGE: 10f10

BY: R SCALE: 1:48




10

9

(4 Ply 2x6 Plained)

10-9)4"
15-3)4"

5x5 Glue Laminated Post,

Post Layout Plan

YardCraft’

rediscover life outdoors

191 JALYN DRIVE NEW HOLLAND, PA 17557
PH: 1-866-210-9273

WWW.YARDCRAFT.COM

THIS DRAWING IS THE PROPERTY OF YARD CRAFT,
ANY REPRODUCTION , ALTERNATION, OR USE OF
THIS DRAWING, WITHOUT THE WRITTEN CONSENT
OF YARD CRAFT, IS PROHIBITED. DRAWINGS
SHALL NOT BE SCALED TO OBTAIN DIMENSIONS.
THE CONTRACTORS/DEALERS, AND BUILDERS
INVOLVED ON THIS PROJECT SHALL VERIFY ALL
DIMENSIONS AND CONDITIONS BEFORE
STARTING WORK. ANY DISCEPANCY SHALL BE
REPORTED IN WRITTING BEFORE STARTING WORK.

CONTRACTOR:

YardCraft

DRAWING TITLE:
Post Layout Plan

PROJECT:

12x12 A-Frame Pavilion

COMMENTS:

REVISIONS: DATE: BY:

DRAWING NUMBER: g 550

DATE: 8/17/2018 PAGE: 20f 10

BY: R SCALE: 1:36




4 YardCraft’

rediscover life outdoors
191 JALYN DRIVE NEW HOLLAND, PA 17557
PH: 1-866-210-9273

12:8,
WWW.YARDCRAFT.COM
THIS DRAWING IS THE PROPERTY OF YARD CRAFT,
ANY REPRODUCTION , ALTERNATION, OR USE OF
S E o N o = — 1l THIS DRAWING, WITHOUT THE WRITTEN CONSENT
o |i il | OF YARD CRAFT, IS PROHIBITED. DRAWINGS
SHALL NOT BE SCALED TO OBTAIN DIMENSIONS.
2x4 Rafters, 23" O/C THE CONTRACTORS/DEALERS, AND BUILDERS
Typical, Fasten to Header INVOLVED ON THIS PROJECT SHALL VERIFY ALL
! ! ; DIMENSIONS AND CONDITIONS BEFORE
A N —" " I = — Al With (1) #10 X 5" Screw STARTING WORK. ANY DISCEPANCY SHALL BE
A I l A REPORTED IN WRITTING BEFORE STARTING WORK.
. « ofle o y . . CONTRACTOR
— —_ | YardCraft
5/4X6 Roof Lath, notched
2100 1/4" at each rafter then
- H—H H—H H—H +—HH— H—H H—H H—H .
-1 — — fasten with (2) #10X2 1/2"
Screws fo each rafter DRAWING TITLE:
Roof Framing Plan
T T o
~—|
[ —1—2x4 Collar Tie, fasten to rafter with
] [ (2) #10x2 1/2" screws at each end
. . . . . . . PROJECT:
. I 12x12 A-Frame Pavilion
Detail D L1
.:¥ 7 - Py s ole o Py L Py : :‘

\_/\ T 5/4%6 Gable Trim, fasten fo
Bracket A-1, (See Bracket end rafter with #10x2" screws COMMENTS:

Details) fasten to post with (4)
#8x2" screws and to each
header with (2) #8x2" screws

REVISIONS: DATE: BY:

Roof Framing Plan

DRAWING NUMBER: g 550

DATE: 8/17/2018 PAGE: 30f10

BY: R SCALE: 1:36




102"

Metal Roof,

12-8%"
Detail A
5/4X6 Roof Lath, notched
1/4" at each rafter then
v fasten with (2) #10X2 1/2"

Screws to each rafter

Fastened to 5/4xé.

S "

7-6"
7-0%"

2 ply 2x6 Header fasten
together with #10x2 1/2"
screws and fo post with
(2) 3/8"'Xé" Lags

2X8 Brace, fasten to post and

C header with (2) 1/4"'x3" GRK screws
8-874

10904

CROSS SECTION A-A

Detail B

4 YardCraft’

rediscover life outdoors
191 JALYN DRIVE NEW HOLLAND, PA 17557
PH: 1-866-210-9273

WWW.YARDCRAFT.COM

THIS DRAWING IS THE PROPERTY OF YARD CRAFT,
ANY REPRODUCTION , ALTERNATION, OR USE OF
THIS DRAWING, WITHOUT THE WRITTEN CONSENT
OF YARD CRAFT, IS PROHIBITED. DRAWINGS
SHALL NOT BE SCALED TO OBTAIN DIMENSIONS.
THE CONTRACTORS/DEALERS, AND BUILDERS
INVOLVED ON THIS PROJECT SHALL VERIFY ALL
DIMENSIONS AND CONDITIONS BEFORE

STARTING WORK. ANY DISCEPANCY SHALL BE
REPORTED IN WRITTING BEFORE STARTING WORK.

CONTRACTOR:

YardCraft

DRAWING TITLE:
Cross Section

PROJECT:

12x12 A-Frame Pavilion

COMMENTS:

REVISIONS: DATE: BY:

DRAWING NUMBER: g 550

DATE: 8/17/2018 PAGE: 40f10

BY: R SCALE: 1:24




Metal Roof,
Fastened to 5/4x6.

5/4X6 Roof Lath, notched
1/4" at each rafter then
fasten with (2) #10X2 1/2"
Screws to each rafter

2x4 Rafters, fasten at fop with
Gusset Bracket B-1, fasten
bracket to each rafter with (4)

DeTO” A #8x1 1/4" screws

5/4X6 Roof Lath, notched

Counterbore for screw 1/4" at each rafter then
fasten with (2) #10X2 1/2"

rews to each rafter

2x4 Rafters, 23" O/C
Typical, Fasten to Header
With (1) #10 X 5" Screw

2X8 Brace, fasten to post and —
header with (2) 1/4"'x3" GRK screws

Detail B

4 YardCraft’

rediscover life outdoors
191 JALYN DRIVE NEW HOLLAND, PA 17557
PH: 1-866-210-9273

WWW.YARDCRAFT.COM

astened to 5/4)(6
' \
~

Detail C

THIS DRAWING IS THE PROPERTY OF YARD CRAFT,
ANY REPRODUCTION , ALTERNATION, OR USE OF
THIS DRAWING, WITHOUT THE WRITTEN CONSENT
OF YARD CRAFT, IS PROHIBITED. DRAWINGS
SHALL NOT BE SCALED TO OBTAIN DIMENSIONS.
THE CONTRACTORS/DEALERS, AND BUILDERS
INVOLVED ON THIS PROJECT SHALL VERIFY ALL
DIMENSIONS AND CONDITIONS BEFORE
STARTING WORK. ANY DISCEPANCY SHALL BE
REPORTED IN WRITTING BEFORE STARTING WORK.

CONTRACTOR:

YardCraft

DRAWING TITLE:
Details

PROJECT:
12x12 A-Frame Pavilion

COMMENTS:

REVISIONS: DATE: BY:

DRAWING NUMBER: g 550

DATE: 8/17/2018 PAGE: 50f10

BY: R SCALE: 1:5




4 YardCraft’

PSPV rediscover life outdoors
191 JALYN DRIVE NEW HOLLAND, PA 17557

/—2 ply 2x6 Header fasten PH: 1-866-210-9273
A tfogether with #10x2 1/2"
screws and to post with

THIS DRAWING IS THE PROPERTY OF YARD CRAFT,

(2) 3/8'X6" Lags

ANY REPRODUCTION , ALTERNATION, OR USE OF

THIS DRAWING, WITHOUT THE WRITTEN CONSENT
OF YARD CRAFT, IS PROHIBITED. DRAWINGS

SHALL NOT BE SCALED TO OBTAIN DIMENSIONS.

WWW.YARDCRAFT.COM

Bracket A-1, (See Bracket THE CONTRACTORS/DEALERS, AND BUILDERS
. . INVOLVED ON THIS PROJECT SHALL VERIFY ALL
_ | ® Details) fasten fo post with (4) DIMENSIONS AND CONDITIONS BEFORE
E —*3 A #8x2" screws and to each STARTING WORK. ANY DISCEPANCY SHALL BE
| m header with (2) #8x2" screws REPORTED IN WRITTING BEFORE STARTING WORK.
O/:_?__,,__ _ CONTRACTOR:
S e ; YardCraft
i N
==y
2 ply 2x6 Header fasten
. together with #10x2 1/2" DRAWING TITLE:
DeTO || D screws and to post with Details 2
(2) 3/8"'Xé" Lags
2 ply 2x6 Header fasten
together with #10x2 1/2" Bracket A-1, (See Bracket 5x5 Glue Laminated Post,
screws and to post with Details) fasten to post with (4) (4 Ply 2x6 Plained) g
(2) 3/8"'Xé" Lags #8x2" screws and to each PROJECT:
12x12 A-Frame Pavilion

header with (2) #9x2" screws  prgcket C-1, fasten
to post with (4)
#10X2 1/2" screws

IA\ %ﬂ and to concrete or
@,. .
~ / 2 ply 2xé Header fasten wood floor with (2)
COMMENTS:

//_ together with #10x2 1/2" 2 3/4" Tapcon

A screws and to post with screws, (2)
G -ﬁ o Bracket H—
~ (2) 3/8"Xé" Lags rackets per post)

| -— — REVISIONS: DATE: BY:

]
\5X5 Glue Laminated Post, T T
(4 Ply 2x6 Plained)
DRAWING NUMBER: 1g.550

DeTOiI C DeTOll E DATE: 8/17/2018 PAGE: 60f10

BY: R SCALE: 1:6




2xé6 Web Brace, fasten bottom to
header with Bracket C-1, fasten top
to rafter with (2) #10X2 1/2" toed

2 Ply 2x6 web post, inside ply extends
to top of rafter, fasten bottom to
header with Bracket C-1, fasten top to

Bracket D-1, fasten to header with (6)
#9X1 1/4" Screws, fasten to web post with
(3) #8X1 1/4" screws, and to web braces
with (2) #8X1 1/4" screws each brace

Detail F

Rafters with (4) #10X2 1/2" screws

2x6 Web Brace, fasten bottom to
header with Bracket C-1, fasten top
to rafter with (2) #10X2 1/2" toed

2 ply 2x6 Header fasten
together with #10x2 1/2" screws
and to post with (2) 3/8"Xé" Lags

s YardCraft’

rediscover life outdoors
191 JALYN DRIVE NEW HOLLAND, PA 17557
PH: 1-866-210-9273

WWW.YARDCRAFT.COM

THIS DRAWING IS THE PROPERTY OF YARD CRAFT,
ANY REPRODUCTION , ALTERNATION, OR USE OF
THIS DRAWING, WITHOUT THE WRITTEN CONSENT
OF YARD CRAFT, IS PROHIBITED. DRAWINGS
SHALL NOT BE SCALED TO OBTAIN DIMENSIONS.
THE CONTRACTORS/DEALERS, AND BUILDERS
INVOLVED ON THIS PROJECT SHALL VERIFY ALL
DIMENSIONS AND CONDITIONS BEFORE

STARTING WORK. ANY DISCEPANCY SHALL BE
REPORTED IN WRITTING BEFORE STARTING WORK.

CONTRACTOR:

YardCraft

DRAWING TITLE:

Details 3

PROJECT:
12x12 A-Frame Pavilion

COMMENTS:

REVISIONS: DATE: BY:

DRAWING NUMBER: g 550

DATE: 8/17/2018 PAGE: 70of10

BY: R SCALE: 1:6




YA

18ga steel. fasten to inside

ply of header and to post
f%" with (4) #8X2" screws

\

\ ¥ hole X 8

Bracket A-1

12"

/— 18ga Steel, fastened to each
rafter with (4) #8X1 1/4" screws

\. ﬁ J

\ @Y Hole X 8
Bracket B-1

YardCraft’

rediscover life outdoors

191 JALYN DRIVE NEW HOLLAND, PA 17557
PH: 1-866-210-9273

WWW.YARDCRAFT.COM

THIS DRAWING IS THE PROPERTY OF YARD CRAFT,
ANY REPRODUCTION , ALTERNATION, OR USE OF
THIS DRAWING, WITHOUT THE WRITTEN CONSENT
OF YARD CRAFT, IS PROHIBITED. DRAWINGS
SHALL NOT BE SCALED TO OBTAIN DIMENSIONS.
THE CONTRACTORS/DEALERS, AND BUILDERS
INVOLVED ON THIS PROJECT SHALL VERIFY ALL
DIMENSIONS AND CONDITIONS BEFORE
STARTING WORK. ANY DISCEPANCY SHALL BE
REPORTED IN WRITTING BEFORE STARTING WORK.

CONTRACTOR:

YardCraft

DRAWING TITLE:

Bracket Details

P

ROJECT:

12x12 A-Frame Pavilion

COMMENTS:

REVISIONS: DATE:

BY:

DRAWING NUMBER:

18-552

DATE:

8/17/2018 PAGE: 8of10

BY:

JR. SCALE: 1:4




| — @),"Hole X 2

10ga steel, fasten to post with
(4) #10X2 1/2" screws and to

concrete or wood floor with
(2) 2 3/4" Tapcon screws

hd L @)/ hole X 4

o] i

— ]%"

Bracket C-1

194

18ga steel, fasten to header
and web post and braces

\>/ s with #8X1 1/4" screws
DA

Bracket D-1

s YardCraft’

rediscover life outdoors
191 JALYN DRIVE NEW HOLLAND, PA 17557
PH: 1-866-210-9273

WWW.YARDCRAFT.COM

THIS DRAWING IS THE PROPERTY OF YARD CRAFT,
ANY REPRODUCTION , ALTERNATION, OR USE OF
THIS DRAWING, WITHOUT THE WRITTEN CONSENT
OF YARD CRAFT, IS PROHIBITED. DRAWINGS
SHALL NOT BE SCALED TO OBTAIN DIMENSIONS.
THE CONTRACTORS/DEALERS, AND BUILDERS
INVOLVED ON THIS PROJECT SHALL VERIFY ALL
DIMENSIONS AND CONDITIONS BEFORE
STARTING WORK. ANY DISCEPANCY SHALL BE
REPORTED IN WRITTING BEFORE STARTING WORK.

CONTRACTOR:

YardCraft

DRAWING TITLE:
Bracket Details 2

PROJECT:
12x12 A-Frame Pavilion

COMMENTS:

REVISIONS: DATE: BY:

DRAWING NUMBER: g 550

DATE: 8/17/2018 PAGE: 9o0of10

BY: R SCALE: 1:4




YardCraft’

rediscover life outdoors

191 JALYN DRIVE NEW HOLLAND, PA 17557
PH: 1-866-210-9273

WWW.YARDCRAFT.COM

THIS DRAWING IS THE PROPERTY OF YARD CRAFT,
ANY REPRODUCTION , ALTERNATION, OR USE OF
THIS DRAWING, WITHOUT THE WRITTEN CONSENT
OF YARD CRAFT, IS PROHIBITED. DRAWINGS
SHALL NOT BE SCALED TO OBTAIN DIMENSIONS.
THE CONTRACTORS/DEALERS, AND BUILDERS
INVOLVED ON THIS PROJECT SHALL VERIFY ALL
DIMENSIONS AND CONDITIONS BEFORE
STARTING WORK. ANY DISCEPANCY SHALL BE
REPORTED IN WRITTING BEFORE STARTING WORK.

CONTRACTOR:

YardCraft

DRAWING TITLE:

ISO

P

ROJECT:

12x12 A-Frame Pavilion

COMMENTS:

REVISIONS: DATE:

BY:

DRAWING NUMBER:

18-552
DATE: 8/17/2018 PAGE: 100f 10
BY: R SCALE: 1:36




	Elevation Plans
	Drawing View1
	Drawing View2

	Post Layout Plan
	Drawing View3

	Roof Framing Plan
	Drawing View4

	Cross Section
	Section View A-A

	Details
	Detail View Detail A (1 : 5)
	Detail View Detail B (1 : 5)

	Details 2
	Detail View Detail D (1 : 6)
	Detail View Detail C (1 : 6)
	Detail View Detail E (1 : 6)

	Details 3
	Detail View Detail F (1 : 6)

	Bracket Details
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22

	Bracket Details 2
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28

	ISO
	Drawing View29


